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A group of tissues preciselv arranged so as to accomplish specific functions is termed as
Options:

1 % Tissue

5 o An organ

z # Cell

4 % Muscle
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Normal range of the body temperature in human being is

Options:
{ % 090-02°F

> % 93-96 °F



5 « 97-99°F

4 % 100-102°F
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Options:

. % 90-92°F

- % 93-96 °F
. v 97-99°F

, % 100-102°F
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The membranes of the thoracic cavity are serous membranes called the

Options:
1 % Peritonium

- % Cerebromembrane
= % Pericardial membranes

4 « Pleural membranes
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Reserve food in human as well as including other mammals is termed as

Options:
1 % Starch

> # Fructose
= % Glucose

4 « Glycogen
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Proteins are made of smaller subunits or building blocks called
Options:

1 % Amines

> u Carbohydrates



= « Amino acids

4 % Sugars
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are single-membrane structures that contain digestive enzymes.

Options:

L Lvsosomes

- % Mitochondria
= % Proteasomes

4 % Ribosomes
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Connective tissue consists mainly of parallel collagen fibers with a few fibroblasts scattered are termed as:
Options:

, w Cartilage

5 % Adipose tissue

% « Fibrous connective tissue

4 % Elastic tissue
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Langerhans cells are also termed as due to their branched appearance.

Options:
{ % Stratum corneum

- % Stratum basale



3 « Dendritic cells

4 = Melanocytes
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The cavities inside the spongy bone often contains

Options:
1 + Red bone marrow

- u Cartilage

= % Yellow bone marrow

4 % Calcium salts
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Bones have specialized cells called osteoclasts which are able to dissolve and reabsorb the minerals of bone matrix.
This process is known as a process called as:

Options:
, w Diaphysis

- % Ossification

- » DBone absorption

4 « Resorption
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Out of the fourteen facial bones. movable bones are termed as:

Options:
1 % Nasal bone

- % Lacrimal bone



z % Maxillae bone

4 +« Mandibular bone
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Among the followings. which factor affects the bone growth and maintenance?

Options:
, w Tallness of a person

> « EXercise
%z % Gender

4 % Colour of the skin
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Muscles those with the same function. or those that work together to perform a particular function are termed as:

Options:
, = Antagonistic muscles.

- % Muscle fibers
= % Skeletal muscles

4 Synergistic muscles
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The sarcoplasmic reticulum surrounds the sarcomeres and is a reservoir for which type of ions?

Options:
1 % Potassium

> « Calcium

=z % Sodium



4 % Zinc
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is type of a phospholipid that electrically insulates neurons from one another.

Options:
1 % Schwann cell

- % Dendrites

o o Myelin

4 = Neuroglia
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An example of a neurotransmitter is which is found at neuromuscular junctions, in the CNS, and in much of
the peripheral nervous system.

Options:
, % Dopamine

o o Acetylcholine,

5 w (ray matter

4 % White matter

Question Number : 16 Question Id : 3210111891 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TF FIRIEEHET F SETEI0] TS & FIUATL R AT X, Tuaeg F 3 ofefy afyesr a3
¥ foeeTer 9T F OTEr ST 2l

Options:
| % EOTAES
, » THCTEeHoTEA

TET TeTy

3_%’6 o,

Question Number : 17 Question Id : 3210111892 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
provides us with information about the external environment and also about the skin itself.

Options:
1« Cutaneous sense

- % Muscle sense

= % Chemical sense



, w Biological sense
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The impulses from the rods and cones are transmitted to These converge
at the optic disc and become the

Options:

, % Occipital lobe. optic nerve

-  Ganglion neurons, optic nerve

- u Occipital lobe, optic chiasma

, = Ganglion lobe, optic chiasma
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is an error of refraction, caused by an irregular curvature of the cornea or lens that scatters light rays and blurs
the image on the retina.

Options:
, w Farsightedness

- u Earsightedness

5 u Presbyopia

4 o Astigmatism
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The hormone which increases the reabsorption of water by kidney tubules, which decreases the amount of urine formed
is known as:

Options:

, = Oxytocin



5 w Somatotropin

= « Antidiuretic hormone

4 % Luteinizing hormone
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Jaundice is not a disease. but rather a sign caused by excessive accumulation of in the blood.

Options:
| « Bilirubin

> % Glucose
= % Plasma

4 w Digestive enzyme
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From the right atrium, blood will flow through the into the right ventricle
Options:

1 % Semilunar valve

o o Iricuspid valve

- u Bicuspid valve

4 % Atrial natriuretic valve
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During the digestion. enzyme converts emulsified fats to fatty acids and glycerol.
Options:

, » Trypsin



5 w Amylase

5 o Lipase

4 % Cellulase
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Severe hemorrhage or very low blood pressure following a heart attack may cause:
Options:

, w Intrinsic renal problem

-  Prerenal problem

- » DBacterial infection of kidneys

, w Polycystic kidney disease
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For a clear electrocardiogram. most essential is:

Options:
, = Properly developed heart of the patient

> % New electrodes
z « Skin must be clean & dirt free

4 % Only during heart attacks
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Wave is always present, uniformly rounded without peaking or notches. Amplitude is less than 3.0 mm with
duration between (.06 to 0.1 second.
Options:

| % Q wave



> % T wave
= o P wave

4 ® 5T wave
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In ECG techniques, ‘P’ waves are absent and rate is between 70 to 100 per minute. They are seen in patients with
significant heart disease. digitalis overdose and after open heart surgery. This is known as:

Options:
; « AV junctional tachycardia

> % Afrial flutter
= % Afrial fibrillation

, % Second degree heart block
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During the ECG measurements, there is always a risk of when electrical current passes through myocardium.

Options:
1 % Electrical shock

- « Ventricular fibrillation

- % Damaging of heart muscles

, = Damaging of the skin
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In dental radiography the main concerns arise from of work areas and equipment.

Options:

|« Salivary contamination



> % Viral contamination
= % Bacterial contaminsation

, » Fungal contamination
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is used to stop photons scattered within the patient reaching the film and degrading the final image.

Options:
, w Aluminium wedge filter

- o Anti scatter grid

% % Cassette holder

4 % Earrod
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is a specialized technique for producing radiographs showing only a section or slice of a patient.

Options:
, + Tomography

Arthrography
Sialography

Angiography
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suspensions is used for investigating the gastrointestinal tract.
Options:
, w Copper sulphate

- » Magnesium sulphate

- % Sodium sulphate

4 « Barium sulphate
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Radioactive decay follows Kinetics.
Options:

1 « First order

> % Second order
% % Third order

4 % Pseudo order
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Half-Life of Polonium-214 is

Options:
1 % 10x 10"* second

> % 1.4 10"* second
3 o 1.6 X 10"* second

4 8 1.1x 10"* second
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Name the process where one element is artificially changed into another element.
Options:

1 % Mutation

- Ultraviolet catastrophe



- w langential

4 « Transmutation
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A sheet of paper or the outer layer of skin will stop particles.

Options:
| « Alpha

-~ % DBeta
= % Gamma

4 % Delta
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Who first recorded the electric current preceding cardiac contraction?
Options:

1 % Einthoven

- o Augustus Desire Waller

= % Sir Thomas Lewis

4 w GoldbergerE.
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Which of the is useful in providing diagnosis of probability of coronary artery disease and prognostic parameters like
risk of myocardial infarction, sudden death and need for urgent surgery?

Options:

, % Measuring glucose level

> o« Heartt test



5 u Visibility test

4 #® Measuring blood pressure
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For leads (avR, avL & avF). one electrode is exploring lead and the other two electrodes are connected to zero
potential.

Options:

s Augmented

- u Bipolar

5 % [Lripolar

4 % Modified chest
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Advantage of maximizing ‘P’ waves for dysrhythmia monitoring and increased sensitivity
of three electrode system for anterior wall ischaemia monitoring could be achieved in
Options:

, w Three electrode system

-  Modified three electrode system

- u Four electrode system

, u Twelve electrode system
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While monitoring the ECG. which position is used for the chest electrode?

Options:
1 % Left clavicle

- R C’Sf-

. x CMs
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For analyzing the ECG, always better to analyze using

Options:
, = Soft copy

-  Hard copy

- u Computer analysis

4 % Heart model
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Among the followings. which one is the causes of ECG artifacts?
Options:

1 Drying of gel due to air exposure

- % voltage variations

- » lmproper heart beats

, = Increase of sugar in blood

Question Number : 43 Question Id : 3210111918 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

= 7 o SO anfethee &1 FRoT F4T 87
Options:

g F HIF H A F FROT A FH FEA

1.9

5 u Aleed e

. o o 7 R ase

&I H T #r e

4 #

Question Number : 44 Question Id : 3210111919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In ECG. formation of the QRS complex is because of the:

Options:



1 ® Pwave

- u Articular polarization

= % U wave

4 « Vventricular depolarization
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Treatment or prevention of leads to prevention of perioperative cardiac morbidity.

Options:
, = Hpyperventilation

5 ® Chronic hypertension

= « Ischaemia

4 % ST segment
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During ECG interpretation, in a five electrode system, Leads IL. III and aVF reveal disease in
Options:

, w Right ventricular artery

- w Left atrial artery

- o Right coronary artery

, = Left coronary artery
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During Sinus bradycardia: ‘P’ waves occuring at a rate of less than per minute with ‘PR’ interval more than
seconds.

Options:
;& 72&015

5 o 60 & 0.12
5 % 84&0.16

4 % 25&0.11
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, » 60 3 0.12
5 » 84 3 0.16

4 = 25 3T 0.11
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When the PR interval exceeds 0.20 seconds, then the condition is:

Options:
, « First degree heart block

- » Second degree heart block

- w Third degree heart block

, w Four degree heart block
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is the techniques involved in producing the various radiographic images.
Options:
, = Crystallography

- « Radiography

- » Photography

4 w Lithography
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X-rays and their ability to penetrate human tissues were discovered by

Options:
, « Roentgen

- % Rutherford
%z % Mulliken

4 % J.J. Thomson
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Wavelength of X-and gamma ravs

Options:

1 ¥ 10 nm to 0.01 pm

15 nmto 0.02 pm
5 nm to 0.03 pm

20 nm to 0.01 pm
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Options:

. «» 10 nm & 0.01 pm

, % 15 nm & 0.02 pm

5 % °nm T 0.03 pm

, % 20 nm ¥ 0.01 pm
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isotopes with unstable nuclei which undergo radioactive disintegration.

Options:
1 % Radio isobar

-  Radio isotope

- % Nuclear isotopes

4 % Nuclear isobar
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X-rays are capable of producing ionization and are thus referred to as radiation.




Options:
L% Nonionizing

Simple
%z % Self induced

4 « lonizing
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The charge of Alpha particle is .
Options:

1. ¢ T2
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The Half-Life of Uranium-238 is

Options:

| ® 3.5 % 10° years

> % 40X 10° years

5 of 4.5 % 10° years

4 % 2.5x10° years
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The decrease in mass of the nucleus is called the

Options:



1 « Mass defect
- % Afom defect
= % Electronic defect

4 % Nuclear defect

Question Number : 56 Question Id : 3210111931 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ATTNE & FOATT H FHT Y el AT 2
Options:

. v SEUAT W

, TEH (30 aW

2.

3_&5 sﬂﬁﬁmaﬂq
. TR (FfFR) A

4,

Question Number : 57 Question Id : 3210111932 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In Radio physics. PET stands for ,
Options:

, w Position emission tomography

- % Positron emitting tomography

- » Positron emission topography

4 « Positron emission tomography
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A severe heart attack that seriously impairs the pumping of the heart will decrease the blood oxvgen level to less than
normal. This condition is called:

Options:
, % Dypoxia

- u Haemophilia
- % Myelinia

4  Hypoxia
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Lipoprotein which is commonly known as ‘bad cholesterol” is:
Options:

, = Phospholipid

> w High density lipoproteins
o o Low density lipoproteins

, = Polyunsaturated fatty acids
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Substances produced by lymphocytes: label pathogens for Destruction are termed as:
Options:

, » Haemoglobin

5 % Myoglobin

= « Antibodies

4 % Myosin
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The sub unit of the nucleic acid which consists of a pentose sugar, a phosphate group, and a nitrogenous base
is known as:

Options:

1 % Nucleoside

> « Nucleotide
Oligopeptide

Nucleoprotein
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Name the the water portion of cytoplasm, which is responsible for many chemical reactions take place within it.

Options:



, « Cytosol
5 % Lysosome
= % Proteasome

4 % Ribosome
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The folds of the cell membrane on the free surface of a cell are termed as:
Options:

, = Cilia & Flagella

> « Microvillai
- u Golgi apparatus

4 % Centrioles
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A disorder which can depresses synaptic transmission in the CNS; and can result in confusion, coma, and death. This is
known as:

Options:

1 % Alkalosis

> o Acidosis

Parlanson disease

4 % Alzheimer’s disease
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Name the process of meiosis for egg cell formation: which begins in the ovaries and is also regulated by hormones.

Options:



, % Spermatogenesis

o o Oogenesis

- % Spermatogonia

4 % Meiosis
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In the radiograph technology. the electromagnetic radiations used are
Options:

1 % Gamma radiations

- u Alpha radiations

-  X-Ray radiations

4 # Magnetic waves
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In a radiograph processing process, the term ‘Development’ refers to:
Options:

, » Conversion of a small image into a larger one

- w Conversion of a large image into a smaller one
- w Conversion of magnetic image into a real one

4 « Conversion of latent image to black metallic silver.
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In a radiograph. the latent image formation is the ionization of the exposed crystals occurring in the emulsion
laver before processing occurs.

Options:



1 « Silver bromide
- % Silver nitrate
= % Silver chloride

4 % Silveriodide
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In the radiograph of the dark room technology, the role of the developer is:

Options:
, w Reduction of the energized sodium chloride crystals

- w Reduction of the energized ionized beam crystals

- w Reduction of the energized silver nitrate crystals

4 « Reduction of the energized ionized silver bromide crystals
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In the radiograph developed in the dark room technique, the unexposed silver halide crystals are not be washed away.
Justify the same.

Options:
1 « This is due to the insoluble nature of silver halide

> % This is due to the high ionization potential of the silver halides

- % [Ihis is due to the high decomposition potential of the silver halides

4 % This is due to the high melting point of silver halide
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In dark room techniques. Safe-light conditions must be maintained while transferring the film from the developer to the
wash tank and then to the fixing tank to avoid

Options:
; = Clogging

> o Fogging

5 » Clouding

, w Precipitation
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In dark room technique, while developing the radiograph. there are special type of rollers that remove the chemicals and
thus the film goes from the developer solution straight into the fixer.

Options:
1 % Metallic rollers

> u Solid phase rollers

o o Squeegy rollers

4 % Rubber roller
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While developing the radiograph, finally the film needs a wash to remove the residual fixer chemicals. Insufficient
washing leads to colouration.

Options:
1 % Black

> o Brown

5 % Grey

4 % Red
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During the developing process of a radiograph, Hydroquinone is used. What is the role of hydroquinone during the
developing?

Options:

, w» Tomake the process economical

> % Toincrease life span of the film
5 o 10 give a sharp contrast to the image

4 % It slows the oxidation
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For the manual processing of the radiograph, which one of the following is essential?

Options:

, + Floating thermometer

- % Beckmann thermometer

5 w Graph sheets

4 % Acid solution
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In X-ray instrument. which one of the following device is used to transport new sources from the manufacturer to the

operating organization?
Options:

| « Source changer
- % Connector

- u Adapter

4 ® X-ray probe

Question Number : 76 Question Id : 3210111951 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TFEY AT A, A # ¥ B 3UeRor I Iuaer e @ AR erea # AT e o e
T frar smar 22

Options:

| v BT oRESE

. % Th (FeleFex)

. u HTRED (TETR)

.« TEFEY S (99)



Question Number : 77 Question Id : 3210111952 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The high energy X-ray required for the radiographic examinations requiring highly penetrating radiation can be
obtained by:

Options:
, % Using platinum probe

o o Using accelerators

- w Using high density probe

4 % Using high energy sonication
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Using radiographic examinations of large structures in dark rooms, such as bridges are done on site and such

measurements can be done accurately using a smaller
Options:
, w Telescope

- u Electronic microscope

e Cyclotron



4 % DBetatron
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Chemoreceptors are several hundred in numbers and are different ones, which detect vaporized chemicals. These
chemoreceptors are present at the:

Options:
1 % Inner nasal cavities

- o Upper nasal cavities

=z % Lower nasal cavities

, = Superficial nasal cavities
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Among the followings, which one is the innermost layer of eyeball, which contains rods and cones?

Options:
1 ® Fovea

> # Opticdisc
- » Ciliary body

4 « Retina
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Name the autoimmune disorder that causes hypersecretion of thyroxine in human.

Options:
, % Myxedema

> % Cretinism



3 % Goiter

4 « Grave’s disease
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Glucagon stimulates the liver to change glycogen to glucose and also helps to increase the use of for energy
production.

Options:
1 % Glucose and fructose

- « Fats and excess amino acids

5 ® Fatty acids and fructose

, = Fructose and fatty acids
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Insulin dependent diabetes 1s also termed as

Options:
Lo Tvpe 1 diabetes

- = Type 2 diabetes

5 % lype 3 diabetes

4 = Type 4 diabetes
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The result of hyposecretion of the adrenol cortical hormones in humans is known as
Options:

; % Cushing syndrome

o> o Addison’s syndrome



z % Melatonin

, = Prostaglandin
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In children younger than age 3. the atrioventricular node may discharge impulses at a rate of times per
minute; the Purkinje fibers may discharge at a rate of, times per minute.

Options:

; % 20to 30 & 5010 60
> % 30to40 & 60to 70
= % 40to 70 & 30 to 40

4« 501080 & 4010 50
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pumps blood into the lungs where it’s oxvgenated. Then the blood returns to the left atrium and flows
to the

Options:
, = Right atrium & left atrium

o o Right ventricle & left ventricle

5 u Left ventricle & right ventricle

4 w Leftatrium & right atrium
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An ECG records information about those waveforms from different views or perspectives. Those perspectives are called

Options:
1 % Waves and nodes



> % SV nodes and AV nodes

- » Wave stimulation and repolarization

4 « Leads and planes
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Hardwire monitoring of ECG is generally used in intensive care units and emergency departments because it permits
continuous observation of one or more patients from more than one area in the unit. Which one among the followings is
a drawback?

Options:
| w Very expensive process

> u Aftaching the electrodes is a difficult task

- » More electrical shocks as compared to the normal ECG

B patient discomfort because the electrodes and cables are attached to the chest
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In an ECG, the T wave’s peak represents the of ventricular repolarization, a period during which cells are
especially vulnerable to extra stimuli.

Options:

, « Relative refractory period

- u Relative reflecting period

z % Relative heart beat

, = Relative relaxation period

Question Number : 89 Question Id : 3210111964 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

SHST A, & T F o IFer RoeseeE & Fr waHesE Fr & o o et SEs
chrer AT 9w &7 7 3 scas=mst $r v F o 2
Options:

| TUE FUIaS Y
5 % T e S agene

4w TOET fFsmE safer

Question Number : 90 Question Id : 3210111965 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In an ECG, the rhythm can be measured in a simple way by using

Options:
| ® SCrew gauge

- % Scale

-  Caliper

4 % Chemical method
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Sinus bradycardia is characterized by a sinus rate below 60 beats/minute and a regular rhythm.
It can be commonly observed among:

Options:
, w Diabetic patients

> « Athletes

5 % Young woman

4 % New born babies
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The arrhythmia may be the body’s response to exercise or high emotional states and may be of no clinical significance.
It may also occur with hypovolemia, hemorrhage, or pain. Such condition is known as:

Options:
, w Sinus arthythmias

> % Sinus lymphomia

- % Sinus bradycardia

4 « Sinus tachycardia
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For atrial fibrillation, electrical cardioversion is most successful if used:
Options:

. w During the first 2 weeks of treatment for the arrhythmia.

- % During the first 4 months after the onset of the arrhythmia.
-  During the first 48 hours after the onset of the arrhythmia.

4 % Anytime during the first year after the onset of the arrhythmia.
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The term pulseless electrical activity refers to a condition in which there’s:
Options:

, % Anextremely slow heart rate but no pulse.

- % Asystole on a monitor or rhythm strip.

5 o Alectrical activity in the heart but no actual contraction.



4 w Asystole and a palpable pulse and blood pressure
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A main component of the treatment for third-degree AV block is:

Options:
, « Useof a pacemaker

Administration of calcium channel blockers

P
o

Administration of oxygen and antiarrhythmics.

Administration of beta-adrenergic blockers
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Treatment of first-degree AV block is aimed at correcting the underlying cause. Which of the following may cause first-
degree AV block?

Options:

i ® Stress

5 of Digoxin

- » Angiotensin-converting enzyme inhibitors

4 % Physical exertion
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When using a transcutaneous temporary pacemaker. the energy level should be set at:
Options:

, % the highest milliampere setting the patient can tolerate.

-  the lowest milliampere setting that ensures capture of the myocardium.



3 ®
a milliampere setting midway between the setting that causes capture of the myocardium and the setting at which
svmptoms first appear

, % the milliampere setting that provides a heart rate of 80 beats per minute.
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A patient with a biventricular pacemaker will have which lead configuration?

Options:
, = Alead in both ventricles only

- % A lead in each atria and each ventricle

-  Alead in the right atrium and each ventricle

4 % A lead in both atria and the left ventricl
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Which therapy is the patient with an Implantable Cardovascular Defibrillator (ICD) receiving when the device delivers a

series of small, rapid electrical pacing pulses?
Options:

, « Antitachycardia pacing
» % Cardioversion

= % Defibrillation

, % DBradycardia pacing
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After ablation of the AV node. the patient may need a pacemaker because:

Options:



. + impulses can no longer be conducted from the atria to the ventricles.

- % the sinoatrial node no longer initiates an electrical impulse.

- » accessory pathways now conduct impulses from the atria to the ventricles.

, # the AV node begins to fire at its intrinsic rate.
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A cyclone in Philippines and Japan is called?



Options:
1 % Hurricane

- % Tornadoes
-  lyphoon

4 % Storm
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| x B

Question Number : 102 Question Id : 3210111977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The rotting dead matter in the soil is called:

Options:
, w Top soil

- % Bedrock

5 w Sandy soil

4 « Humus

Question Number : 102 Question Id : 3210111977 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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ooR M—ﬁﬂ
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Question Number : 103 Question Id : 3210111978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What’s the percentage of oxygen when we inhale?

Options:
i *® 25%%

oW 319%

i 21%%

Question Number : 103 Question Id : 3210111978 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| % 25%
> % 31%
o W 21%

L% 24%

Question Number : 104 Question Id : 3210111979 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

a B




Question Number : 104 Question Id : 3210111979 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Frogs have a pair of lungs like human beings but they can also breathe through their

Options:
1 % Tracheae

- % Gills
e Skin

4 % Spiracles

Question Number : 105 Question Id : 3210111980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Gulamgiri is written by?

Options:
1 % B.R Ambedkar

- % Pandita Ramabai

- % Shahu ji maharaj

4 + Jyotiba Phule

Question Number : 105 Question Id : 3210111980 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Sub-Section Number: 2
Sub-Section Id: 32101163
Question Shuffling Allowed : Yes

Question Number : 106 Question Id ;: 3210111981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word from the alternates which has analogous relation to the given terms:

Bombay: Hyderabad: Jaipur: ?
Options:
1 « Chennai

- % Palakkad
3 % Af

4 = Vijayawada

Question Number : 106 Question Id : 3210111981 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 107 Question Id : 3210111982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a coding system, SIN is written as CGO and HOLE as BKAV. How should one write NOSE in that coding system?

Options:
i 8 KVCM

> % KCMG
s % MCKL

i o ORCV

Question Number : 107 Question Id : 3210111982 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

% KVCM
, = KCMG
-z & MCKL

4.« OKCV

Question Number : 108 Question Id : 3210111983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Viyshnavi is sister to Naresh, How i1s Vyshnavi’s mother’s brother’s son related to Naresh.

Options:
{ ® Son
> % Brother

z « Cousin

4 % Father in law

Question Number : 108 Question Id : 3210111983 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 109 Question Id : 3210111984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many triangles are there in the following figure?

Options:

LA

1. =

Question Number : 109 Question Id : 3210111984 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1 #® 5

3¢ 9

Question Number : 110 Question Id : 3210111985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The following Venn diagram shows information about number persons who like of different types of Chocolates
produced by company ZXYX during a survey in the school LMN,

What is the ratio of number of students who like chocolates of type B only to Type A and C but not B?

Options:
1 ® . B

> % 4:1
o Fi

4_.;?.3'.1

Question Number : 110 Question Id : 3210111985 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:




1#343

> ® & 33
z ® 5 2 2
4 & 3 23

Question Number : 111 Question Id : 3210111986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Study the following figure carefully. There is an analogous relation between the first and second pairs. Choose the
missing figures (I and II) from the alternatives such that they form pairs.

<??@

1€
(]

-| /Y

¥
ZON

Question Number : 111 Question Id : 3210111986 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 112 Question Id : 3210111987 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What would be the 18™ term in the following arithmetic progressive series?

2B
Options:
i B 69



Question Number : 112 Question Id : 3210111987 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

>« 11

Question Number : 113 Question Id : 3210111988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Sampath has ¥ 700 in the denominations of five-rupee notes. ten-rupee notes and twenty-rupee notes. The number of
notes of each denomination is equal. What is the total number of notes that he has?
Options:
1 ® 20

.2
g{
LAy
o

Question Number : 113 Question Id : 3210111988 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

oW 50‘



Question Number : 114 Question Id : 3210111989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If § stands for — . @ stands for —, * stands for *, % stands for +,
then what would be the result of the following expression
‘16*2818%3@9°?
Options:
1. 21

2_.;?’29

Question Number : 114 Question Id : 3210111989 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

T 29

Question Number : 115 Question Id : 3210111990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a certain code MUMBALI is written as 1422143210. How AGERA could be written in that code language?

Options:
; ® 27192

> % 28182

3 o 28192



4 % 27182

Question Number : 115 Question Id : 3210111990 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

, ® 27192

. % 28182

L 27182

Sub-Section Number: 3
Sub-Section 1d: 32101164
Question Shuffling Allowed : Yes

Question Number : 116 Question Id : 3210111991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A person’s salary was decreased by 50% and subsequently increased by 50% . Then the percentage of loss incurred is:

Options:

Question Number : 116 Question Id : 3210111991 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



20%

25%
= W

50%

Question Number : 117 Question Id : 3210111992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Milk and water and mixed in the ratio 4 : 3 respectively. If 5 litre of water is added again. then the ratio becomes 4 : 5
. Then the quantity of milk present initially is:

Options:
1 4

25«55
3\;?’10

Question Number : 117 Question Id : 3210111992 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 % 4

23.55
3\5-"10

Question Number : 118 Question Id : 3210111993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The average of 11 results is 60 . If the average of first six results is 58 and the last six is 63 , then the sixth result is:

Options:



4.« 66

Question Number : 118 Question Id : 3210111993 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

4 v 66

Question Number : 119 Question Id : 3210111994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A salesman sold an article at a loss of 20% . If the selling price had been increased by < 100 . then there would have

been a gain of 5% . What was the cost price of the article?
Options:
| ¢ T400

4 % T600

Question Number : 119 Question Id : 3210111994 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



| ¢ T 400

L« T450

-1

Question Number : 120 Question Id ;: 3210111995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Allen works twice as fast as Bob. If both of them together take 6 days to complete the work, then in how many days can
Bob alone complete the same?

Options:
, % 2 days

o = 12 days

5 18 days

4 = 20 days

Question Number : 120 Question Id : 3210111995 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

L s 9 B
o« 12 R
- v 18 f&
4= 20 R

Question Number : 121 Question Id : 3210111996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Two bicyclists cover the same distance 12 km/hr and 13 km/hr respectively. If one takes 13 minutes more than the
other, then the distance travelled by each is:



Options:
. % 3.38 km

> % 33 km
z « 33.8 km

4 % 38 km

Question Number : 121 Question Id : 3210111996 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. % 338 km
. » 33.8 km

Question Number : 122 Question Id : 3210111997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following diagram. if KL = LM . If CK = 5x+ 9 and CM = 6x — 13, then x equals

#
#

b
, O
.L_-'
Options:
1 # 4
o W 0
z B 21

o
%
-2
I-a



Question Number : 122 Question Id : 3210111997 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TRRT R & aff KL=2IM | Iff CK=5x+9 T
CM = 6x—13 &, a x & AT g

o

Options:

1 * 4
> % 9

4. o 22

Question Number : 123 Question Id : 3210111998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A sum of T 1550 is lent out into two parts, one at 8% and another one at 6% . If the total annual income is T 106 .
then the money lent at each rate is

Options:
|« T 650andT 900

> % T 950 and T 600
= % T 750 and ¥ 800

4 % T700and¥ 850

Question Number : 123 Question Id : 3210111998 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. » T 650 3T ¥ 900



- » T 950 3Rk T 600
- » T750 3 Z.800

, % 3700 3R T 850

Question Number : 124 Question Id : 3210111999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In what ratio must a cereal at T 9.30/kg be mixed with a cereal at ¥ 10.80/kg so that the mixture be worth < 10 /kg?

Options:

i 4 8:7

Question Number : 124 Question Id : 3210111999 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

4 & 817

Question Number : 125 Question Id : 3210112000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The surface area of the following prism is:

._mu_u._uhﬂ

4emi 3cm
N
XCm

Options:

108 156 cm?

. 158 cm?
2 « 168cm’

4w 170 em”

Question Number : 125 Question Id : 3210112000 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
. % 156 cm®

- % 158 cm?

. » 168cm’

4 % 170 cm?



